>
N = 0l & At & Ml A
2017HE 22 15 BB YA ~ XA
SN gas
M Q48 BOUA WEAD 75
ol UMS BIMNHIA 25 CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
LS 661,988 530,438 131,550
YAZ FHXX HWERID 2= 580,480 448,930 131,550
LA S HFAMHA HE 580,480 448,930 131,550
HEAMHIA 2229 234,960 158,410 76,550
201 Let24E] 176,460 156,910 19,550
02 3224l 152,660 133,110 19,550
OMNS4 2 JI2S ®II23
9,600,000& «12& 115,200 101,400 13,800
OFAXE mA2e 1,500,000 «12& 18,000 12,250 5,750
401 AIEHIZ 2 I 57,000 0 57,000
01 A& HI 57,000 0 57,000
OLepE Z & 41X 57,000 0 57,000
FUEY dEH o 112,520 107,520 5,000
101 1Al 72,200 57,200 15,000
04 JIZtHNZ22 s+ 72,200 57,200 15,000
OZ&xd AEZE AN 22 15,000 0 15,000
206 M= Hl 6,500 21,500 A 15,000
01 M= dl 6,500 21,500 A 15,000
OFVES HER AN WETY
,000,000& » 14! 5,000 10,000 A5,000
OZZ(RAZA)AN Mg+ 0 0 10,000 A 10,000
401 AIEHIZ 2 HYI 10,000 5,000 5,000
01 A& HI 10,000 5,000 5,000
OXNEEHZE2EE(ZAZAAMN) 5,000 0 5,000
THoH ol ==0l=& of 2 195,000 145,000 50,000
401 AIEHI L 2CHYI 190,000 140,000 50,000
01 A& HI 187,948 138,488 49,460
& =2 B3 M 10,000,000 *98.92% 9,892 0 9,892
ONOIXIT th42 HHIZA
10,000,000 *98.92% 9,892 0 9,892
OBl 842 HUIBA
10,000,000 *98.92% 9,892 0 9,892
ONHRl 42 HuIBA
10,000,000 *98.92% 9,892 0 9,892
OUMTT WAL HblBA
10,000,000 *98.92% 9,892 0 9,892
03 Al 2 HHI 2,062 1,612 540
OMBHOY ZoI&R o2
190,000,000 *1.08% 2,062 1,512 540
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N & 0l & At

o o Al

A

= o
201789 = =3 1 3] LESIH A ~ AAMH
2N B
M H28H F0HAUX WEHIT ==
ool 2O BIMHIA 25 EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
ERgsil 275,205 242,705 32,500
HSH WX HWERIDA *= 221,885 189,385 32,500
29 dIMHIA 235 221,885 189,385 32,500
HEAMHIA 2229 58,165 55,665 2,500
201 Let24E] 57,047 54,547 2,500
02 2324l 49,380 46,880 2,500
OXEEE =g A2 2,500,000+ 1CH 2,500 0 2,500
THotollgt =2l=3 of & 115,000 85,000 30,000
401 AIEHI L 2] 110,000 80,000 30,000
01 A& HI 108,813 79,136 29,677
O=20t2 AZEHISAM 11,871 0 11,871
OxXgnts AHZFHISAM 17,806 0 17,806
OEBXOIE sZZF S A 0 0 9,892 A 9,892
OgXxots Z2Y HIJIE 3 A
10,000,000 *98.92% 9,892 0 9,892
03 AlE 2 THHI 1,187 864 323
OTBH 0 FpI=2 e
110,000,000& *1.079% 1,187 864 323
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N = 0l & At & Ml A

20178 =& 1 3 LA LA ~ AAME

2N 28
Ha: 29X XN UEND 2=
SRl 2 BIMHIA 25t CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
Sore 422,129 370,445 51,684
Soel HOKX UEAT 25 361,081 309,397 51,684
S0 BIMHA B 361,081 309,397 51,684
HENH A 222y 86,194 83,694 2,500
201 L2yl 85,594 83,094 2,500
01 AL 22l 11,400 10,360 1,040
ONREE 7Y 336,660 +122 4,040 3,000 1,040
02 232 74,194 72,734 1,460
OXEE =X |XEl 2,500,008 *10H 2,500 0 2,500
ORIREA A Lyl 0 0 1,040 A 1,040
FOIEO MEEH M 65,764 51,580 14,184
101 2121l 20,384 5,200 15, 184
04JIAH22RNSES 20,384 5,200 15,184
OSYH FRAZLMY o2y
10,000,000 * 1 10,000 0 10,000
O2Y TEa 22| ALY
576,000 *9JH B 5,184 0 5,184
201 22| 29,000 40,000 A11,000
01 Ab 2reltl 14,000 5,000 9,000
O2% ZEsFa el 22 333,300 +9HS 3,000 0 3,000
ONMOIEEE 222 6,000 0 6,000
03 & At2 2 bl 15,000 35,000 £20,000
OS3s ZZS LHiY =X 0 0 20,000 220,000
206 T2 | 12,000 2,000 10,000
01 HEHI 12,000 2,000 10,000
O2Ye AAZLMY HETL
10,000,000 *144 10,000 0 10,000
THOH Ol 2 0l =8l of 2 117,000 87,000 30,000
401 Al HI LS OH bl 113,000 83,000 30,000
01 Al&HI 111,812 82,136 29,676
Og=e2l 022 EF  15,000,0002 <98.92% 14,838 0 14,838
OIS 52 15,000, 0002 +98.92% 14,838 0 14,838
ONS0IE SHZ HEAY 0 0 14,838 ~14,838
OSHS =8 FHIAY 15,000,000 <98.92% 14,838 0 14,838
03 Al& 2 Th ] 1,188 864 324
O Moo FoIHRAY £
110,000, 000! *1.08% 1,188 864 324
essy 29 62,123 57,123 5,000
201 et A H| 25,650 25,650 0
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2N
X ZH -
L= B

el

02 02 0o
e e

H0 Ho HO
02 o

0 2

X HWEHZA #*=
=l e

= A

CHE - EI(BA) - NRAY - BYS

Off &t 24

01 AFR2t2ltl 4,376 4,000 376
O&F=Jl MEZ 376,000& 14 376 0 376

02 3222l 21,274 21,650 A 376
O&=Jl AEZ 36,9003 x2& 74 450 A376
401 AIEHIZ 2 I 15,000 10,000 5,000
01 A& HI 15,000 10,000 5,000
oxz==sg Z=+ 15,000 10,000 5,000
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N = 0l & At & Ml A
2017HE £ 15 5N AAUS ~ XA
SN B
HE: AP HONK WEND 25
SRl ABE BHAHA 235 (29l & 2)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
dgel 353,485 320,985 32,500
NB EHOXE WEND 25 299,365 266,865 32,500
NBY BHNUIA 28 299,365 266,865 32,500
HYAMHIA Bel2Y 59,847 57,347 2,500
201 Yot 2 bl 58,418 55,918 2,500
01 A= 22l 7,058 5,382 1,676
O BM 3o 45 960 0 960
OXNSTHAL RX2 616 0 616
OFA ®IQHHEFY 242 100 0 100
02 B2 51,360 50,536 824
OBAAS 240 1,200 £960
ORSHHIAL RX2e 440 1,056 £616
OBA ®IIQEPY 242 0 100 A100
OLEY =AY RN 22l 2,500,000¢14 2,500 0 2,500
THohol2 Folsg of 120,000 90,000 30,000
401 Al 2 = CH | 114,000 84,000 30,000
01 A&l 112,812 83, 136 29,676
OBt TH 8 0ll & Al 2! 10,000,000+98.92% 9,892 0 9,892
O TH o 0l & AF e 10,000,000+98.92% 9,892 0 9,892
OIS THah ol & AF 2! 10,000, 000+98.92% 9,892 0 9,892
03 Al& = CH ] 1,188 864 324
OTHGHOI 2 =2 ALeS 110,000,000+ 1.08% 1,188 864 324

- 237 -




= A
N = 0 &8 AFH Y & A AN
20179 & =& 1 3 U3 Ldags ~ XAH
e HR=E=
M A0 FOHUX HWERKZA #*=
Gl g0l HEAHIA 23 (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
Mo 360,010 326,410 33,600
M40 20X WEYT 2= 305,546 271,946 33,600
A0 #HFEAMHA 235 305,546 271,946 33,600
HEAMH A HEI2Y 63,914 63,314 600
201 Yty 62,692 62,092 600
02 2229 50,292 49,692 600
OAIR4a 2 Jtgs dMII23
3,200,0008 122 38,400 36,000 2,400
OARA SR 1,000,000 * 1 1,000 4,000 A 3,000
O=xsz 29 2 =g 150,000 8K & 1,200 0 1,200
=olmol MEsy JfA 89,432 86,432 3,000
101 Q1A H 54,712 62,712 28,000
04 JI2H2R2HEE S 54,712 62,712 A8,000
OXZHOIIIE =¥ 28 22 =4 2,000 6,000 A 4,000
O 28 Hx oy 6,000 10,000 A4,000
201 LBt 8,640 1,640 7,000
01 AL 22| H 8,640 1,640 7,000
OHLHARA TXAM 2 208 AX| 7,000 0 7,000
206 24l 19,000 15,000 4,000
01 24l 19,000 15,000 4,000
OXZH0IH3a =86 28 2ZX4d s F
ol 8,000 4,000 4,000
ool =02 116,000 86,000 30,000
401 AlEHI L= 110,000 80,000 30,000
01 Al&HI 108,813 79,137 29,676
O4d=0t2 ot HUIAMY
20,000, 0002 *98.92% 19,784 0 19,784
O2FE MEAE =H HUlAIY
10,000, 000! *98.92% 9,892 0 9,892
03 Al& 2 HH 1,187 863 324
OXafole =gl 5 1,187 863 324
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> A
N & 0l & Av S Z M A
201789 = =3 1 3] LESIH A ~ AAMH
2N Qa0
M 0 FHAUX WERD 2=
SRl @48 BIMHIA 25t EERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
S 560,588 481,588 79,000
eH FHIX UWERKID 2= 483,904 407,904 76,000
0 HIMHA 235 483,904 407,904 76,000
HEAMHIA 2229 180,476 179,476 1,000
201 Let24E] 164,976 163,976 1,000
01 AFR2telHl 39,842 38,842 1,000
OfIds &= 1,000 0 1,000
FolEe MEEd Hd 76,428 55,428 21,000
201 L Er2A | 8,700 3,700 5,000
01 At 22l bl 7,100 2,100 5,000
O2=+I HatM & 5,000 0 5,000
206 M= Hl 20,000 5,000 15,000
01 M= 4l 20,000 5,000 15,000
OZ2ZXd Mz 2¢ 18,000 3,000 15,000
401 A& HIZ 201 8] 1,000 0 1,000
01 A& HI 1,000 0 1,000
Om3a==d =2 HXH &X 1,000 0 1,000
THohollg =2l=3 of & 197,000 143,000 54,000
201 LEr2A | 14,000 13,000 1,000
03 AH2 S HI 1,000 0 1,000
O ZEY SJAAMG HMSHA 1,000 0 1,000
301 et d s 3,000 0 3,000
09 AL HI B A= 3,000 0 3,000
O ZEH SJANG ¥ 2= MH 3,000 0 3,000
401 AIEHI L 2 CHYI 180,000 130,000 50,000
01 A& HI 178,058 128,596 49,462
O+ & =2 ZHISA 0& 0 9,892 A 9,892
O HE PUELSAAY FHISA(RIIHEE
) 10,000,000 *98.92% 9,892 0 9,892
O ZEA SJAAY 15,000,000 *98.92% 14,838 9,892 4,946
O2= &J|0ts &+& =2 FHISA
11,000,000 *98.92% 10,882 0 10,882
O2% el g2 =8 =2 FUISAM
10,000,000 *98.92% 9,892 0 9,892
O2% 2302 =2 HHISA
8,000,000 *98.92% 7,914 0 7,914
O+ 2& QENS &2 FUISAM
6,000, 000& «98.92% 5,936 0 5,936
O2+ S SUits 52 ZHISA
10,000,000 *98.92% 9,892 0 9,892
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SH: 2%0
M 0 FHAUX WERD 2=

SHol: Q40 BIMNHIA 25 EERED
SH BB S(SH) - MPAY - B2 0 aF Il = e HRS2

03 AlE 2 THHI 1,942 1,404 538

OMololg FRlI=JA 1,942 1,404 538

HH2HZH(2+H) 76,684 73,684 3,000

Jl23l 76,684 73,684 3,000

+H Jl=Z 76,684 73,684 3,000

405 TtobFH S| 4,000 1,000 3,000

01 AL EZFH S 4,000 1,000 3,000

OFUXX T8 JH 2 3,000 0 3,000
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>
N & 0l & At & Z Al
=H 18 LU YAS ~ XA
& o
Sl BORA WEHND 25
SO HZAHIA 25 o HE)
2N -3 -2 (SH) - NHEAMY - BES Off &t 24 Z
Mlesr 293,206 255,474 37,732
MlEe BOIRX WERAD 75 238,742 201, 37,732
Mleien #EALIA 28 238,742 201, 37,732
HHAHA B2 56,862 49, 7,732
201 Yot Fh| 55,912 48, 7,732
02 222l 47,812 40, 7,732
oEE=NNY SABL 2,500 2,500
OJ2S ®IKS 2,440,0002 * 122 29,280 24, 5,232
THOH Ol F8l=2l of 2 116,000 86, 30,000
401 AIEHIL 2T HI 110,000 80, 30,000
01 Al Hl 108,812 79, 29,676
OHUIE ZHEBM 5,000, 0002 *98.92% 4,946 4,946
OBHOIS VXY I
10,000, 000! 38.92% 9,892 9,892
OLSOS THEHOIZANS  15,000,0002 +98.92% 14,838 14,838
03 A& S THHI 1,188 324
OO =0I= A& 110,000,000% 1.08% 1,188 324
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N = 0l & At & Ml A
20178 =& 1 3 LA LA ~ AAME
AN AAHH
A MY FHUX UWERKIT 2=
SRl AHE BIAMHIA 25t EERED
SA-EY.B(BH) - PN - BES 04l &4 4 p/E-L HI RS2
SAHH 322,004 289,004 33,000
AN FHIX UWERKIA 2= 266,540 233,540 33,000
SAHE HAHMHIA 25 266,540 233,540 33,000
HEAMHIA 2229 81,640 78,640 3,000
201 Let24E] 78,034 75,034 3,000
01 AFR2telHl 15,800 12,800 3,000
OFLUXXNEH =235 ¢ 3,000 0 3,000
THotollgt =2l=3 of & 123,000 93,000 30,000
401 AIEHIZ 2 CHYI 110,000 80,000 30,000
01 A& HI 108,813 79,136 29,677
ONM& I THOH 0l 2 AL 16,000, 000%98.92% 15,828 0 15,828
Os3cI=a=3 At 14,000, 000%98.92% 13,849 0 13,849
03 Al& 2 CHHI 1,187 864 323
OTHoHofl & == 2l = R A 323 0 323
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=
N = 0l & At & Ml A
2017HE £ 15 5N AAUS ~ XA
SN BES
HE: BEM HONK UEAD 25
Sl BEE BHAHA L3 (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
2HEH 475,763 398,263 77,500
2EH FUHIX UWERKID 2S5 399,919 322,419 77,500
2HEH HAIMHIA 25 399,919 322,419 77,500
HEAMHIA 2229 130,279 102,779 27,500
201 fEt2E | 102,408 99,908 2,500
02 3224l 82,876 80,376 2,500
OXESE=ENNE A2 2,500 0 2,500
401 AIEHIZ 2 Y 25,000 0 25,000
01 A& HI 25,000 0 25,000
OZEHARA 1 &X 20,000 0 20,000
OEUARAL HIEF=ZA 5,000 0 5,000
THohoilgt =2l=% of2 155,000 105,000 50,000
401 AIEBIZ 2 CHYI 150,000 100,000 50,000
01 A€ HI 148,380 98,920 49,460
Ouldel s=2&H| 20,000,000%98.92% 19,784 0 19,784
Og=cl s2dHl 15,000, 000%98.92% 14,838 0 14,838
O&=3cl =2 &l 15,000, 000%98. 92% 14,838 0 14,838
03 Al 2 THHI 1,620 1,080 540
OMolioe Fal=JAS 50,000, 000%1.08% 540 0 540
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N = 0l & At & Ml A

SN 2T
B MO BOKXK UEAT 75
SRl ATS WIMHA 23 CEEEED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
27 361,415 324,915 36,500
AT HORA UEHD 25 301,555 265,055 36,500
2R HHAHIA 2 301,555 265,055 36,500
HHAHA B2 67,302 60,802 6,500
201 Bt | 66,802 60,302 6,500
01 AbR 22l gl 10,150 9,150 1,000
OZM 2=, HIIS0HY 7Y 1,000 0 1,000
02 B2 56,652 51,152 5,500
OFAXZY KX 22yl 2,000 9,000 3,000
OSX XY |22 2,500 0 2,500
THoH ol =ol=& oiZ 114,000 84,000 30,000
401 NEHIL 2 THYI 110,000 80,000 30,000
01 Al& bl 108,812 79,136 29,676
O&J Tl GIZAZ  15,000,0002 «98.92% 14,838 0 14,838
OBIF THH O & AL 5,000, 0002 *38.92% 4,946 0 4,946
o2 BH+2 JHIAY 0 0 0
Oh2 TaH Ol 2 Af et 10,000, 0002 x98. 92% 9,892 0 9,892
03 A& 2 THHI 1,188 864 324
OTHEH Ol =2I=2 AL 110,000,000 +1.08% 1,188 864 324
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N & 0l & Av S Z M A
P0I7THE 5 1 38 LUalH YAUS ~ XAS
S R=Pl
M oo KX UWERAT 25
SRl ST BIAMHA 25t CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
S Xl o 286,060 246,560 39,500
XS FOXK UEHD 75 223,596 191,006 32,500
XIS BIAEIA B3 223,596 191,096 32,500
HMHA ol 64,516 62,016 2,500
201 Yot Fh| 63,916 61,416 2,500
02 B2l 54,916 52,416 2,500
ONYRNH(LEY =XXEY) 2,500 0 2,500
THOH Ol 2 018l of 2 118,000 83,000 30,000
401 AIEHI L 2 THBI 113,000 83,000 30,000
01 Al 111,812 82,136 29,676
O 2l THo o & AreS 10,000,000+98.92% 9,892 0 9,892
SRl ool & A e 10,000,000+98.92% 9,892 0 9,892
OTPLOS THAHCIZAY  10,000,000+98.92% 9,892 0 9,892
03 Al = Ch bl 1,188 864 324
OTHOHOI S FSI=HGHZ  30,000,000+1.08% 324 0 324
FHSABY (ST ) 62,464 55,464 7,000
=2 62,464 55,464 7,000
SXIS = 62,464 55,464 7,000
405 TH&HF St 10,000 3,000 7,000
01 ML SEHSY] 10,000 3,000 7,000
OSXY =Xa 2 FUHAAL £LAL & 7,000 0 7,000
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A & 0l & AF 2 E A A
201789 = =3 1 3] LESIH A ~ AAMH
M XIAH
M AAME HFOHUX WERD 2=
Sl AAe dHANH A 235 (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
Xl AHH 337,977 252,977 85,000
KA EHXX WERID *= 284,513 199,513 85,000
KAHH B MHIA 25 284,513 199,513 85,000
HEAMHIA 2229 95,893 66,893 29,000
201 Let24E] 68,775 65,775 3,000
01 AFR2telHl 15,175 12,175 3,000
OFLUXXNEH =235 ¢ 3,000 0 3,000
401 AIEHI L 201 26,000 0 26,000
01 A& HI 26,000 0 26,000
OXAIHAIR A HADIs B23A 20,000 0 20,000
OHEMAE L THEIE WHSA 6,000 0 6,000
FOIEO MEEH A 34,620 13,620 21,000
101 @14l 16,100 7,100 9,000
04 JI2ZtHZ22 a2+ 16,100 7,100 9,000
O"HT ZEHIJ o2 100,000 * 172 *33l 5,100 2,100 3,000
Ostd 20 g2 100,000& 10 *43| 4,000 2,000 2,000
OXAL E28 B2 X EAY 4,000 0 4,000
206 M= Hl 7,000 1,000 6,000
01 =8l 7,000 1,000 6,000
OXAL E2H BA2XHAY 6,000 0 6,000
401 Al HIZ 201 Y] 6,000 0 6,000
01 A& HI 6,000 0 6,000
OZ)| 2xF eHf2r& &X 3,000,000 24! 6,000 0 6,000
THoH ol =0l==& o Z 124,000 89,000 35,000
201 -4 11,000 6,000 5,000
01 AP 2tel ] 11,000 6,000 5,000
OXoiol e & =7 HH SX= 11,000 6,000 5,000
401 A& HI K 201 8] 113,000 83,000 30,000
01 A& HI 111,812 82,136 29,676
Of/g+=s MHXE 0 0 3,000 A 3,000
OfIgd+== MAHXNE & THoH Ol AL 3,000 0 3,000
ot . gd s22% 9,892 0 9,892
O&Z Hi==2 FHI 9,892 0 9,892
OAY s2 & 9,892 0 9,892
03 AlE SR THHI 1,188 864 324
OXHaiolg ==& diZ 30,000,000%1.08% 324 0 324
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